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EHFRT GEH 2B HEHR) ERIEE S LR Atk 2 (6) Chicago scored one run fewer (42 V") in the 6th inning than (t£) they did in the 5th inning, and did not
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g g g g g g % 0 ‘ l ‘ 2 ‘ 0 ] 6| 2 [ 6 (7) Cleveland scored in only 4 innings, and tied it up again in the 8th inning.
% % % % % % % O OO0 DOoMm (8) Cleveland batted in the 10th inning and scored one run.
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6. Alex walks from school to home at a constant rate () &) of 4 feet (32 R) per second. One day, he leaves

school at 3:00 pm. After walking for one minute, he rests (#&.&) for 1 second. Then he continues (%% %2)

1. Compute 2 +0"° +1° +9= . walking for another minute, and then rests for 2 seconds. Then he walks for another minute and rests for 3
seconds. This pattern (4 X,) of walking for a minute and resting a second longer each time continues until

2. Aclass begins at 8:30 a.m. and ends at 9:05 a.m. on the same day. In minutes, what is the length of the class? (F]eeeeer #1E)  he gets home. Alex arrives (%]i%) at home precisely (#54F%#.) at 3:18 pm. What is the
VR 22 . distance (¥E#) between Alex's school and his home in feet?

3. Abag contains (#.2) red and green marbles (3 2 ) . If two red marbles are added to the bag and two green IRH 5 °
marbles are removed from the bag, the number of red marbles would be twice (#4&) the number of green | 7. BAVENE, WAKZ AR B R . T2, EMAKENE —NERBE, 112 HRH
marbles. Given that there are 30 marbles in the bag, how many red marbles are in the bag? orE. HnE i E i E G K A, SURAKRIRIX AN R B TAR R . #2770 B, %5 5 K IR
Uity % : PREVUET 7, RN ATRAE 7. (FRBAERE, B FREM B ROARL Y, %R TR R

MFEARIA, BRI, K.

4. The number 100000 is factored (4 #%) as a product (F&A42) of two positive integers (iE# %) m and n.
Suppose (& % )  that neither m nor n has the digit (£ #5) 0 in its base 10 expansion. Then
m+n=

5. Use the following clues to fill in the table provided in the problem. Use the information to determine (# /)

who won this classic World Series game between the Cleveland and Chicago baseball (##k) teams.

(1) Chicago scored (/4°) one run in the first inning (/%) , but did not score again until the 4th inning. PO I_.
(2) Cleveland tied itup (47A%-F &) in the third inning.

(3) Chicago scored the same number of runs in the 4th, 5th and 10th innings.

(4) Neither team scored in the 7th inning or 9th inning.

(5) Both teams scored 2 runs in the 5th inning.
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